12 | (a) #N/A is used to stop the software reading the 2.4 allow so that the cell is ignored oe advantage
entry as zero or the software interprets #N/A as no data
oe
1]
12 | (b) (30.6, 128) and (1.3,88) ringed Bl 1.1
1]
12 | (¢) outlier on extreme left oe should be removed as B1 2.4 | need to refer to BMI being implausible advantage
nobody could have a BMI this low oe
outlier with (very) high pulse rate oe should notbe | Bl 24 advantage
removed as it is plausible oe
12]
12 | (d) no correlation B1 2.2b | ignore other comments unless
contradictory
1]
12 | (e) because the value of pmcc is close to 1 or B1 2.2b

because there is strong correlation oe

1]







